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Group Marks : 200
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Section Id : 97410949
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Section type : Online
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Number of Questions : 45



Number of Questions to be attempted : 45

Section Marks : 75
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 974109369
Question Shuffling Allowed : No

Question Id : 9741093329 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 20)
Question Label : Comprehension

SECTION - A : ANALYTICAL ABILITY
1. Data Sufficiency GT0F DTS

Note:  In questions numbered from 1 to 20, a question 1s followed by data in the form
of two statements labelled as (I) and (II). You must decide whether the data
given i the statements are sufficient to answer the questions. Using the data
make an appropriate choice from (1) to (4) as per the following guidelines:

(a) If the statement (I) alone is sufficient to answer the question, but (IT) can’t give
the answer Mark your choice (1).

(b) If the statement (II) alone 1s sufficient to answer the question, but (I) can’t give
the answer Mark your choice (2).

(¢) Ifboth the statements (I) and (II) are sufficient to answer the question but neither
statement alone 15 not sufficient mark your choice (3)

(d) If both the statements (I) and (II) together are not sufficient to answer the

question and additional data are required, mark your choice (4)
arad: 1 ook 20 S08 @ 9O @%;Lem: we @), @ Gois (1), (II) & en fie
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Sub questions

Question Number : 1 Question Id : 9741093330 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3)3“5 FSD

A Series (Analogies/a:b::c:d relationships) PEAED
Is the positive integer p a prime?

GRQIY W0DY P 25 DO N0 )BT’

(I) p is an even number.
D 25 0 Doay.

(I) The sum of positive integers which are less than or equal to p 1s 91.
P 55 885D To@ DAV &d) G Qg Nodjw dwdo 91,

Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 2 Question Id : 9741093331 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT. ABILITY
2. Problem Solving Ei)&j_)ﬂ“?g AT

A. Sertes (Analogies/a:b::c:d relationships) BEAED)



What 15 the area of the circular path enclosed between the circular garden and its circular
outer fence?

DYTPSR0R) &) QDB 7 DEVHL DN Sod D10 TS 0R) L8 PTVI0 Jod?

(I) The diameter of the garden 1s 50 meters.
&5 &6 7§90 50 .

(I) The radmws of the circle formed with the outer fence 1s 28 meters.
DY 503 D61 9,8 arjrgo 28 <.

Options :
1. %1
2. % 2
3.3
4, % 4

Question Number : 3 Question Id : 9741093332 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving E’omﬂ“é FSD

A Series (Analogies/a:b::c:d relationships) FEeW

> a
For non zero real numbers a and b. 1s e < 0?2

-‘5'0“;6?5@{5 76 VODFEV da, b e % < 0 esanedome?

(I) ab<0
(I) a+b<0
Options :
1.9 1
2. %2
3.%3

4. % 4



Question Number : 4 Question Id : 9741093333 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3)3“5 FSD

A Series (Analogies/a:b::c:d relationships) FEeW

How many birds are there on the tree?

& )80 ) DEIDT) 007

(I) If four birds fly away there will be less than 10 birds on the tree.
DD DEW E38 IABTD &3 SyEop 1059) BEYD DLOEVOETO.

(I) If four new birds perched on the tree there will be more than 16 birds on the
tree.

e 58 0500 & dyfo P 7B 7P 16 80 8 DLW

Options :
1. % 1
2. %2
3.¥3
4, % 4

Question Number : 5 Question Id : 9741093334 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘&)&‘.}J.ﬂ“@ ALY

A. Sertes (Analogies/a:b::c:d relationships) Feaew



What 1s the perimeter of the rectangle which has positive mtegers as lengths of all its sides?

) e TR0 G Qg poaguahiturri ¢ 65g S0P S SRS Jos?

() Its breadthis 5 em.
TP DEVY 5 0.2,

(I) Its diagonal 1s 13 em.
o2 Do 13 Do.2.

Options :
1. %1
2.¥ 2
3.%83
4. % 4

Question Number : 6 Question Id : 9741093335 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)mﬂ“é F3

A Series (Analogies/a:b::c:d relationships) FEDeW

Find the integer m satisfymg 0 < m < 99,

0 <m < 99 R Sy DOS Yrg Doy m & SHE) oc.

(I) m is amultiple of 11.
m o8 11 diws), w5 fedo.

(I) The digit in units place of m is 8.
m o30E), 2,58 JPd0ei"D) €908 8.

Options :
1. %1
2. % 2



3.4 3
4. % 4

Question Number : 7 Question Id : 9741093336 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&1‘13‘*5 FSD

A Series (Analogies/a:b::c:d relationships) FEeW
What 1s the average weight of a student n the class of 30 students?

30 2006 derjen (e e 0005’ 28 DI N BXDD0S?

(I) Inthe class. 20 students are guls.
&3 B008¢° 20 o6 erdEenT) .

(II) The total weight of all the students put together 1s 780 kgs.
& (566" DTRHHR 060 LWL o 780 8.1,

Options :
1. % 1
2.¥ 2
3.%3
4, % 4

Question Number : 8 Question Id : 9741093337 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘A)&‘.}J.ﬂ“@ ALY

A. Sertes (Analogies/a:b::c:d relationships) Feaew



What 15 the total surface area of the cuboid?

&g 20N CIVE VOQFGER DTV Joed?

(I) Volume of the cuboid is 240 em’,
&5 (hgE0R0 AE), VIVBATE0 240 Do.2d..

(IT) Length and breadth of the cuboid are m the ratio 4 : 3.
&9 &g@m g TEY. DEQN® AiyH 4 : 3.

Options:
1. % 1
2. %2
3.%3
4.9 4

Question Number : 9 Question Id : 9741093338 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT. ABILITY
2. Problem Solving ?’0&3}3"5 AT

A. Series (Analogies/a:b::c:d relationships) FEADED

Find the cost price of the article.

&5 ey g E) du &do8) o

(I)  The profit percent on the article 1s equal to discount percent announced on its
marked price.

€3 DY) 2 OFY TS0 98 T RSB DO P V5NN &ow) TS
@alTPA0.
(I) The profit percent on the article 1s 10%.

&3 D) @ & o 10%.



Options :
1. %1
2. %2
3.%3
4.9 4

Question Number : 10 Question Id : 9741093339 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3)3“5 FSD

A Series (Analogies/a:b::c:d relationships) FEeW

5 ; ; ; i -~ b
If the numbers a, b, ¢, d are in geometric progression, what is the value of o
. b
~oaxen a,b, ¢, d e (e 3C6° o83, — Denad o ?

[9

(I) The product of a and d 1s 64.
a 2ndai d © vro 64.

(I) The common ratio of the progression 1s 4.
& 3¢ g FATR] Ay 4.

Options :
1. %1
2.9 2
3.%3
4. % 4

Question Number : 11 Question Id : 9741093340 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving Ei)&lmﬁ“é R IARY

A Series (Analogies/a:b::c:d relationships) FEDED



Is integer n divisible by 147

PG Doy 1, 14 3 :)%1};’101'1“ 2o excoedone?

(I) n 1s an even integer divisible by 7.
nesaéd 73 ::)%;,:)‘c-ﬁ“ 2rBociedd 28 D0 R}oajé.

(I) n 1s a multiple of 7.
n ©JO 7 0Is), w8 hedo.

Options :
1.1
2. % 2
3.%3
4, % 4

Question Number : 12 Question Id : 9741093341 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&1‘13‘*5 FSD

A Series (Analogies/a:b::c:d relationships) FEeW



In the adjacent figure. are QRO is a semicircle. What is the area of the circle with centre O?

0E) 008", Do QRO w8 Bg Hydo. 0 Sogerr (o Sydo

DTV[0 Joed?

(I} Area of APOQ = 30 sq.units.

APOQ DT = 30 &.ahr.

(II) Length of QRO = 2.57.

QRO sy = 2.51.

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 13 Question Id : 9741093342 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)mﬂ“é F3

A Series (Analogies/a:b::c:d relationships) FEDeW

: MCQ Option Shuffling : No



How many men are required to complete the work in 10 days?

£3 02 10 Baveres” Jrd Soint) Joddnod MDD BS0ITEM?

() 4 women can together complete the work 1n 20 days.
4D svarven €3 DA 20 Baved’ Hrd Sabnod.

(I) 6 men and 4 women can complete the work 1 15 days.
6 (it WD abain 4 M svarven £8N es DA 15 Fawes’ Hrd

QoM.

Options :
1. % 1
2. %2
3.+3
4, % 4

Question Number : 14 Question Id : 9741093343 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ?’\)m.ﬁ“ﬁ AT

A. Series (Analogies/a:b::c:d relationships) Feaew



IfA, B are any two sets, find the set B.

A, B e D39 Goch Heoen oo, B a9 smgﬁboci.

1) AnB=1{1,234,56)

) A-B={78910,11,12)

Options:
1. %1
2. % 2
3.%3
4.¥ 4

Question Number : 15 Question Id : 9741093344 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT. ABILITY
2. Problem Solving ‘&)&1)3“6 AT

A. Series (Analogies/a:b::c:d relationships) BEAEL)



What is the amount of money Rajesh invested in a post office savings scheme?

28 Sarer Ty %08’ TeT e SRR Ao ¢o Jod?

. B 25 w. .
(@) An increase of simple imterest rate from 7% t010% on his investment in
the post office savings scheme increases his yearly income by Rs.600.

erE3kD =% ool 10% & otkod sk ey desded 0

Teivzy d0 w82 PO vrrako 6r.600 DOKIA.

(I) If the rate of simple interest 1s 12% per annum, then his mvestment gets

doubled in 8 % yeas,

(Pt 205003 12% wawd, 8 Teoiy Ao 8§ 0 708

002 waHo0d.

Options:
1.9 1
2. %2
3.%3
4. % 4

Question Number : 16 Question Id : 9741093345 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT. ABILITY
2. Problem Solving ‘&)mﬂ“é AT

A. Series (Analogies/a:b::c:d relationships) FEADED



A conical vessel of height 18 cm contains water upto 50% of its volume. If this water s
transferred 10 a cylindrical vessel, then what is the height of the water in the cylindrical
vessel?

18 220.20. Jorfe) B0 550 IS TR 203 88ea0es” 50% 96 A Sorcy. & A

WS RIS i30S wBD 3. @ arirstiy Y96 2 2 dod?

(I) The height and base radius of the cylmdrical vessel are 20 cm and 4 cm
respectively.

%1503“5“6@ F UG BTN a;w@vgw 364 2070.).
28040 4 0.2,

(IT) The base radius of the conical vessel is half of the height of the water level in
the cylindrical vessel.
e SoaD G0 FY Gy e;iya*’éﬁ“go 090 8 %)PQ"S"CSQ) PSS

08" #atf0 &0wod.

Options :
1. % 1
2. %2
3.+¥3
4. % 4

Question Number : 17 Question Id : 9741093346 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving Ei)&‘_nﬂ“?g AT

A. Sertes (Analogies/a:b::c:d relationships) FEAED



[n the Tenth class annual examination many students failed in English or Mathematics or
both. How many students failed in both English and Mathematics?

103 8610 88 2056 erer ood deithen wofol” G ekdod” T Bocotd e

e eso:ir?gtb. esoffo b feido GoCoBS A mae B0 Dw&?w Jodhvod?

(I) The number of passes in Mathematics exceed the mumber of passes i
English by 2500.

goiofs ) iedod &OKE ithe Roa 2500 5.

(I) The number of students who passed both in English and Mathematics 1s
1400.
egoffo 80K fieddo Bodoties'dm 60003 e D03 1400

Options:
1. % 1
2. %2
3.%3
4.9 4

Question Number : 18 Question Id : 9741093347 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT. ABILITY
2. Problem Solving ‘&)mﬂ“é AT

A. Series (Analogies/a:b::c:d relationships) FEADED



How 15 A related to X?

X & A QD500 wochd) $9A ey 67

(I) A’s father is the only son of X’s mother.
A aBg), dod, X dhog), 393 o) IS HArdD.

(I) Xis the mother of two children.
X e 03 QW Y0 &) .

Options :
1. % 1
2. %2
3.%3
4. 4

Question Number : 19 Question Id : 9741093348 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving E’\)m.ﬂ“?g AT

A. Series (Analogies/a:b::c:d relationships) Feaew

Is the area of a quadrilateral R greater than the area of quadilateral S?

zﬁeﬂ)d)aao S o?msb DT ) zﬁefwcbaa@o R ca.usb DTV a&bm &otnory!

(I) Perimeter of R > Perimeter of S.
R aig), chob Sod > S dkogy ok S,

(I) Rand S are both trapeziums,
R <vdain Sen dsdveos dm%w’w.



Options :
1. % 1
2. % 2
3.%3
4.9 4

Question Number : 20 Question Id : 9741093349 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3)3“5 FSD

A Series (Analogies/a:b::c:d relationships) PEAED

What 1s the volume of a rectangular box?

&g WRTSTT7RY DB Chug), 0 HOSrraA0d?

(I)  The height of the box is 25 cm.
&5 8 A 2520.2.

(II) Total surface area of the box is 6 sq.m.
&3 8 cﬁméb ;i}o:p_)vge:’w STO(0 6 ¢3.2.

Options :

1. % 1

2. % 2

3.%3

4. ¥ 4

Sub-Section Number : 2
Sub-Section Id : 974109370
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9741093350 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&1‘13‘*5 FSD

A Series (Analogies/a:b::c:d relationships) FEeW

25

: DR
27

A7

Options :

2.

19
17

21
. 19

Question Number : 22 Question Id : 9741093351 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving }’ﬂm.ﬁ“é B TATY

A. Series (Analogies/a:b::c:d relationships) Feaew

(3,14): (39,84) :: (155, 258):

Options :

(399, 582)

(399, 586)



3995
- (399, 584)

L. (399.588)

Question Number : 23 Question Id : 9741093352 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT. ABILITY
2. Problem Solving ‘&)&‘.}J.ﬂ“@ ALY

A. Sertes (Analogies/a:b::c:d relationships) BEAED

PEN : K5M :: YES :

Options:

H5B
1. %

F5C
2. %

A5G
3. %

B5H
4. v

Question Number : 24 Question Id : 9741093353 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&‘.}Jﬂ“@ F3

A Series (Analogies/a:b::c:d relationships) PEED



40320 : 13440 :: 384

Options :
2688
1.¢
2689
2680
3. %
2690
4, %

Question Number : 25 Question Id : 9741093354 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘&)&1)3“6 AT

A. Series (Analogies/a:b::c:d relationships) BEAEL)

CAIM : 841 :: EVEN :

Options:
1936
1. %
1849
2116
3.¢

4. =



1600

Question Number : 26 Question Id : 9741093355 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3‘5 FSD

A Series (Analogies/a:b::c:d relationships) PEAED

K3D : N5F :: - T9J

Options :
Q8H

Q7H

Q7J

Q6H

Question Number : 27 Question Id : 9741093356 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘&)&‘.}J.ﬂ“@ ALY

A. Sertes (Analogies/a:b::c:d relationships) BEAED

(10=2): -9 (3.5)



Options :

(—8,—16)
1. %

(8. 16)
2. ®

(8,—16)
3. ¥

(—8,16)
4, %

Question Number : 28 Question Id : 9741093357 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘:’06&.‘:3‘5 D

A. Sertes (Analogies/a:b::c:d relationships) BEALED

TALE - GZOV - HERO:

Options :
SVIL
1.¢
SVIM
2. %
TUIL
TVIL



Question Number : 29 Question Id : 9741093358 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3)3“5 FSD

A Series (Analogies/a:b::c:d relationships) PEAED

(2,4;20): (4, 6;52) :: (6,8, 100) :

Options :

(8, 10: 164)
1.4

(8.9:145)

(8. 10: 461)

(8, 10; 149)
4. -

Question Number : 30 Question Id : 9741093359 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANATLYTICAL ABILITY

2. Problem Solving ‘&)&3}‘3‘6 R IARY
A Series (Analogies/a:b::c:d relationships) PELED
2.3 M):(3.4;: ¥) 1 61}
Options :
(4.5: P)

1. %



(4.5:N)

2. ®

(4. 5: M)
3. %

(4, 5: 0)
4. &
Sub-Section Number : 3
Sub-Section Id : 974109371
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 9741093360 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)ﬁ.’:ﬂ“@ S

A Series ( Odd things out) LD

MX., KV, IS, GR, EP, CN
Options :
GR
IS

EP

KV

Question Number : 32 Question Id : 9741093361 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATLYTICAT ABILITY
2. Problem Solving ‘&)E}J.ﬂ“@ S

AL Series ( Odd things out) Feaoen

12 19 78 39 53

1524 ' 95" an" g

Options :
19
24
1. %
28
36
2.9
39
48
3. %
12
4. % 13

Question Number : 33 Question Id : 9741093362 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATLYTICAT ABILITY
2. Problem Solving ‘&)E}Jﬂ“@ IS

A. Series ( Odd things out) FEAEW

51 &7 85 97 12F 151

46’61"78"89" 118" 141

Options :
1.¢



a7

89
85
78
2. %
a7
61
3. %
151
141
4. %

Question Number : 34 Question Id : 9741093363 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATLYTICAT ABILITY
2. Problem Solving ‘&)m.ﬂ“?g S

AL Series ( Odd things out) Feaoen

Carrots, Potatoes, Onion, Turnips, Ginger, Beetroot, Tomato
{085, ese, &, 08) D, o, A EreS, LAre

Options :

Ginger 2900
1. %

Tomato £3e7°)
2.

Turnip &8y
3. %

4. =



Onion =)

Question Number : 35 Question Id : 9741093364 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)E}Jﬁ“@ FED

A Series ( Odd things out) FEAOEL

64, 56, 72, 82, 48,92, 76

Options:

72

48

92

82

4. v

Sub-Section Number : 4
Sub-Section Id : 974109372
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9741093365 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving Ei)&‘_l_)ﬂ“?g AT

A. Sertes (Analogies/a:b::c:d relationships) BEAED)



B.G KO WA

Options :

I
1.4

N
2. %

O
3. %

P
4, %

Question Number : 37 Question Id : 9741093366 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&‘.}Jﬂ“@ F3

A Series (Analogies/a:b::c:d relationships) PEED

3,24, 48, 120. 168. . 360

Options :

289

29



Question Number : 38 Question Id : 9741093367 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANATLYTICAL ABILITY

2. Problem Solving ‘&)&1)3“6 AT
A Series (Analogies/a:b::c:d relationships) PELED

67 85 127 151 177

76 94’ 136" 160’ 186

Options :
105
114
1.¢
85
94
2. %
67
76
3. %
148
160
4, ®

Question Number : 39 Question Id : 9741093368 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3)3“5 FSD

A Series (Analogies/a:b::c:d relationships) PEED



6,24, 27, 108, 111, 444,

Options :

462
1. %

452
2. %

448
3. %

447
4.+

Question Number : 40 Question Id : 9741093369 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘A)E}J.ﬂ“@ AT

A. Series (Analogies/a:b::c:d relationships) BEAED

2.6 1Z. 20, 30, 42, 5.

Options :



Question Number : 41 Question Id : 9741093370 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘&)&1)3“6 AT

A Series (Analogies/a:b::c:d relationships) PELED

4. &.13.5 10 15 6. i

Options :

10

11

12

Question Number : 42 Question Id : 9741093371 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving ‘&)&‘.}Jﬂ“@ FSD
A Series (Analogies/a:b::c:d relationships) PEED
L2 4 3. 01 123 28 .46
Options :

1. %



fad
N

36
2. %

27
3. v

38
4. %

Question Number : 43 Question Id : 9741093372 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAT ABILITY
2. Problem Solving ‘&)&1)3“6 AT

A. Series (Analogies/a:b::c:d relationships) BEAEL)

100, 98, 95, 91, 86, 30, , 65

Options :

71

1. %

72

74



Question Number : 44 Question Id : 9741093373 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3)3“5 FSD

A Series (Analogies/a:b::c:d relationships) PEAED

: MCQ Option Shuffling : Yes

If SWACHBHARAT is writtenas HD X Y 7 ZG. then the sequence of missing letters

18

SWACHBHARAT &0 HD X Y 7 ZGrrowg, 6o o507 $300

Options :

1

Z,5,8,1

A ] W |

L ERI

Question Number : 45 Question Id : 9741093374 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&l‘:ﬂ“@ FSD

A Series (Analogies/a:b::c:d relationships) PEAED

6, 24, 60, 120, 210, 336,

Options :
1. %

: MCQ Option Shuffling : Yes



436
2. %
504
3. ¥
618
4, ®
Sub-Section Number : 5
Sub-Section Id : 974109373
Question Shuffling Allowed : No

Question Id : 9741093375 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 48)
Question Label : Comprehension

SECTION - A : ANALYTICAL ABILITY

2. Problem Solving Ei)&‘.}.‘:ﬂ“é S

B. Data Analysis Orod DINE



The data regarding the sales i one month of mobile phones of brands 4, B,C, D and E sold
through 5 outlets I, IL, IIL, IV and V are given in the following table. Based on this data,

answer the questions from 46 to 48,

& 308 Gerodo 4,B8,C, D oBakn £ 99 5 d5roand ddarewodd L IL I IV sodosn V
259 e900¢) ITETY (e 200 el 50 m%m AR08, B egrdorr 46 Kok 48

65 0 98) 0% AT GG,

Qutlet -
@8 | o p |l m | W |
Type 650 |

A 00 | 340 | 260 | 190 | 250
B 30 | 175 | 20 | 20 | 165
C 190 | 260 | 140 | 180 | 160
D 85 | 45 | 290 | 180 | 195
E 65 | 80 | 45 | 15 | 110

Sub questions

Question Number : 46 Question Id : 9741093376 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving Ei)m.ﬂ“?g PN TATY
B. Data Analysis dgrod DI

What is the total number of mobiles of all brands sold through all the outlets i the month?

o s @:).l 5T T wm&m&&) SYaTr0 *&30335 Joth?

Options :
1. %



4000

4500
2. %

5000
3. ¥

5550
4. %

Question Number : 47 Question Id : 9741093377 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)mﬂ‘é AT

B. Data Analysis OTrod DI06

What is the percentage of the total number of mobiles of brand D i the total number of
mobiles of all brands sold through all the outlets?

wbl A5 (o wméwéé N d5roand o’ D 6573 20808008 Ao

HYaPELD otk Fho?

Options :

49.5

Ll
O
L

b
h
h

4.+



Question Number : 48 Question Id : 9741093378 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving :::.mﬂv@ FD

B. Data Analysis Orod DINE

The ratio of the maximum number of mobiles of all brands sold in the month by a store to the
minimum number of mobiles of all brands sold in the month by a store 1s

W8 D W5m0d 38 0\ Erog ST BTV Mo KB 6ol & Do

fasy ) os'tio 'S ©) Erog coTIL BT V0 S0 Goll @ Hop(dr

CHAY
Options:
o i
1. %
11:7
2. %
13:8
3. %
I16:11
4.
Sub-Section Number : 6
Sub-Section Id : 974109374
Question Shuffling Allowed : No

Question Id : 9741093379 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix



Question Numbers : (49 to 51)

Question Label : Comprehension

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)6&3‘3“5 S

B. Data Analysis GEFPoT DT

In the following Pie-Chart, distribution of the number of cars in four major cities of a state is
given. In the table the ratios of number of diesel cars to those of the petrol cars are given.
Total number of cars i four cities 1s 147000. Based on this, answer the questions from 49 to
51.

W38 T8 enth MTwd’ o 6 & & 308 o-No Ardinod. HBE’
el Gad diBaty 'S ¢ Andovdy Ardined. e TS dwdo 5
Doy 147000. &9 eerdore 49 dod: 51 56 o 98) 0% rErIen Qi0C.

Ratio of Diesel to Petrol Cars
a6 8ok DS ¢

City

Rtido :)KJDQ

A 34
B 6.7
C 5:3
D 311

Sub questions

Question Number : 49 Question Id : 9741093380 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT. ABILITY
2. Problem Solving ‘&)mﬂ“g AT

B. Data Analysis Q0T DI



What is the difference of the number of diesel cars in city D and the number of petrol cars in
city B?

ito D &' 2 ¢ oy nBfy dtito B &' 'S ¢ o fo 8- dod?
Options :

12120

12010
11960

11760

Question Number : 50 Question Id : 9741093381 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY

2. Problem Solving :::-mi'r@ S
B. Data Analysis Ggroz DI

How much percent of petrol cars in city C is greater than the petrol cars in city A?

Aido A 6D DS ¢ o $°) it € &' D' 5 oy dod Tdo A

Options :

Lh
=]

1.4

48



42

Question Number : 51 Question Id : 9741093382 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving Ei)&j_‘:ﬂ“?s AT

B. Data Analysis Ggro? DTN

What is the ratio of 20% of petrol cars in city B to the 25% of petrol cars in city C?

dido B 6 207 56 5 doays. #do C &' 257 DE'S 5 oy o Ay

E ™ ¥

Joch?

Options :

1215

Sub-Section Number : 7
Sub-Section Id : 974109375
Question Shuffling Allowed : No

Question Id : 9741093383 Question Type : COMPREHENSION Sub Question Shuffling Allowed :



Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (52 to 55)
Question Label : Comprehension

SECTION - A : ANATYTICAT. ABILITY
2. Problem Solving ‘&)&J}ﬂ“& AT

B. Data Analysis Ggro? DTN

In the Venn diagram given below, A is the set of all natural numbers less than 25, B is the set
of all positive integers that contain the digit 5 and C is the set of all primes less than 30.
Using this mformation answer the questions 52 to 55.

dods @&‘)5&}&:6 39 Ogos’, 25 $%) W) v ROV DS A, ¥oS 50 $OA%
GRS Do Aabd B, bty 30 $b) W) 39 D R0 A € ATDR0E.

& (groF) edairfio) 52 Aooct 55 B0 o 8 0 aTr0LL.

84

(@)

Sub questions

Question Number : 52 Question Id : 9741093384 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving :::-mi‘r@ S

B. Data Analysis O@rod DIN6



The number of integers in the region I is
DB%0 1 &°D 28 Do oy

Options :

1
1.¢

-2

b

Question Number : 53 Question Id : 9741093385 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT. ABILITY
2. Problem Solving Ei)m.ﬂ“?g PN TATY

B. Data Analysis dgrod DI

Number of integers in the region F 1s
D3%0 F &°D 3G Do Doy

Options :

10



Question Number : 54 Question Id : 9741093386 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)m‘ﬁ‘g AT

B. Data Analysis GT@rod D06

The number of elements in the region K is

DB%0 K &' dureoste Doy

Options :
1
1. ®
2
2. %
3
3. %
Infinite
easdoedho
4, &

Question Number : 55 Question Id : 9741093387 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ?i).m.ﬁ‘?s AT

B. Data Analysis GT@rod D06

The total number of elements in the regions J and L together is

J 080 L 7ol dndo durese Hoa



Options :

16
’| W
15
2.
14
3. %
12
4, %
Sub-Section Number : 8
Sub-Section Id : 974109376
Question Shuffling Allowed : No

Question Id : 9741093388 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (56 to 60)
Question Label : Comprehension

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘A}m.ﬂ“{} S

C. Coding and Decoding Problems
§c.ofi anBoin CECoh DIFD



In a certain code, n letter of the English alphabet is coded as (n — 4)™mod 26 letter if n is
even and (n +4)mod 26 if n is odd. The inverse process is used for decoding. Using this
mformation answer the questions 56 to 60.

w8 86 i ol 0g6aruEd 1 60| LS, 1 OITR) (1 4) Srdo26 S
5T 11 B Do) wowd. (1+4) 850026 & wITRS 86 Sotbeda. & §2of
§60 A5 B’JQ@D o0ndo0d. A wgrdore 56 ol 60 S8 e Q%AUE‘O

amnvbéso&,.

Sub questions

Question Number : 56 Question Id : 9741093389 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3‘5 S

C. Coding and Decoding Problems
§coh andain aEcoh Ddavgen

Code word for ABORDS i1s

ABORDS G3), & Do

Options :

| » EXSNZV

EXSMZW
2. %

EXTNZY



EXSNZW

Question Number : 57 Question Id : 9741093390 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)‘m‘ﬁ“ﬁ S

C. Coding and Decoding Problems
§coh andain aEcoh Ddavgen

Code word for PAIRED i1s

PAIRED G3o0¢), &E& H%o

Options :
. v LEMNIZ
, » LEMOIZ
LENMIZ
3. %
LEPNIZ
4, %

Question Number : 58 Question Id : 9741093391 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬁ“?g S

C. Coding and Decoding Problems
§c.ofi anBoin CECoh DIFD



JANITOR 1s coded as

JANITOR & & Do S& 318.

Options :

FEJQPSN
1. %

FEIMQSN
2. ®

FEIMPSN
3.¢

FEJQPSN
4. ®

Question Number : 59 Question Id : 9741093392 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬂ“?g By AR

C. Coding and Decoding Problems
§coh andain CECoh Davgen

Which word 1s coded as JACKLEG?

D00 & JACKLEG o~ §& 328?

Options :

NWYHPAC

1. %

NWYGPAC
2.¢



NWGYPAC

NWYGAPC

Question Number : 60 Question Id : 9741093393 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬁ“?g S

C. Coding and Decoding Problems
g oh s0baiw A& oh VSO
Which word 1s coded as WAGONS ?
D Do WAGONS ™ §& Saberdod?
Options:

SWCKOR

SWCRKO

SWKCRO

SWCKRO

Sub-Section Number : 9
Sub-Section Id : 974109377
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9741093394 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬂ“?g By AR

C. Coding and Decoding Problems
§coh andain CECoh Davgen

In a certain code. INU 1s written as 101714132106. In the same code PUSA 1s written as

R 8 & INU & 101714132106t §6& Sixdvipeth, PUSA % B 86 & & 08

esorr §& S,
Options :

1611210619080126
1.

1611210619080162
2. %

1611210619086201
3. %

1161216019080126
4. %

Question Number : 62 Question Id : 9741093395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)E}Jﬂ“& By LT

C. Coding and Decoding Problems
§coh andain 8 Coh Davgen

If ROAD 1is coded as URDG. then EVEREST 1s coded as

ROAD & URDG m §& S32d:¢, EVEREST a3, §&



Options :

HYHVHWX

HYHUHVX
2. %

HYHUHVW
3.¢¥

HYHUHWY

Question Number : 63 Question Id : 9741093396 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&‘.}Ji‘l“é by Ta by

C. Coding and Decoding Problems
§coh andain aE'coh Ddavgen

If PROFIT 1s coded as MOLCEFQ. then the code for EXAMPLE is

PROFIT % MOLCFQ = §& S&:n¢, EXAMPLE aR0g), g6
Options:

BUXKMIB

BUXIMIB
2.

BUXJINIB

BUXJMHB
4, ®



Question Number : 64 Question Id : 9741093397 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬁ“?g By AR

C. Coding and Decoding Problems
§coh andain CECoh Davgen

If CALCULATOR 15 coded as ACCLLUTARO, the code for COMPUTER 15

CALCULATOR & ACCLLUTARO e §& 8¢ COMPUTER o?msb g

Options :

OCPMUTRE

OCPMTURE
2. ¥

OCPMTUER

OCMPTURE

Question Number : 65 Question Id : 9741093398 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)m.ﬁ“?g S

C. Coding and Decoding Problems
§c.ofi anBoin CECoh DIFD



In a certain code if UNCLE 1s coded as DMBOT., then the AUNTY 1s coded as

28 83 8¢ & UNCLE & DMBOT e 86 Sicds, AUNTY civg) §6

Options :

ZSOTB

1. %

ZUDVB

. x XSMTZ

XUMVZ
4.+

Sub-Section Number : 10
Sub-Section Id : 974109378
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 9741093399 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)&3}3“5 e

D. Date and Time & Arrangement Problems
B3, R0oDe B0 BBEL VaVIED

Which day of the week falls on 3" September 2018?
3 2026 2018 & Tdo8” A8z 9HB0B?

Options :

Friday B8 G0

1. %



5 Saturday BQI°G0

Sunday esdda~do

Monday D’ LTG0
4.

Question Number : 67 Question Id : 9741093400 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}‘3"5 D

D. Date and Time & Arrangement Problems

28, Danaio adbain easubge) ”’ram?o?gm

The small angle between the hours hand and minutes hand i a clock when the time is 4.52
pm is

dooto Faogdo 40.520.00 waNBYE AdaLrES” Hobe dwey Bty ARbeFe

20000 [ D8) s St

Options:

154°

0
, o 166

206°

194°



Question Number : 68 Question Id : 9741093401 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)mﬂ“{} ARy

D. Date and Time & Arrangement Problems
3G, V0o S80I B85 DAL

At what time between 8 and 9 o’clock will the hands of a clock be in the straight line, but not
together”?

8 sBaty 9 ok Sogsf ey iRaSrdos’D duenen Ddgdocor ad ae¥ b

Gobron?
Options :
. S 9
lzamm. past 8 80.12 — 9.
1. % 11
10 = min. past 8 8 0. 102 .
11 11
2.
5 o o
6 —min. past 8 8 tfo. 6 — Q.
11 11
3. %
. 8
9 — min. past 8 8. 9— .
11 11
4. %

Question Number : 69 Question Id : 9741093402 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - A : ANATYTICAT ABILITY
2. Problem Solving ‘&)&3}3“5 ARy

D. Date and Time & Arrangement Problems
3G, V0o S80I B85 DAL

Pointing fo the lady at a bus stop, Lakshmi said “She is the sister of the father of my mother’s
son”. How is the lady related to Lakshmi?

0l ) 6 6d) uf Sirdiy of) drbdr ) T 983 fo St aing dodd T8

w)300d’, HYE 6 2. V&S D Y wotom) $8A ¢od?

Options :
Mother 219)
1, %
Grandmother S0SOTReD
2. %
Aunt e9d
3.¢¥
Cousin Ninls
4, %

Question Number : 70 Question Id : 9741093403 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANATLYTICAL ABILITY
2. Problem Solving ‘&)m.ﬂ“ﬁ e

D. Date and Time & Arrangement Problems
38, Do B0 e B8 ”‘nam“’n}ém



Reaching the venue of a meeting 20 minutes before 8.50 hours, Anil found himself 30
minutes earlier than the Chairman who came 40 minutes late to the meeting. Then the
scheduled time of the meeting is

B 10,5000 £ 20 dev dwothre &8 33 'Jom;ﬁégﬁ)é Sty 86, 40d.0
OO & FAFITIS D BU0 §T) 30 d.ew Sowoddrr Su\Sw ddeddo. &
N30 o:wsb :)g"ﬁefs Re00d0

Options :

08.00

08.05

08.10

08.20

Question Number : 71 Question Id : 9741093404 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}‘3"5 D

D. Date and Time & Arrangement Problems
B, Lo 801 BBEL VaVVIED



Two persons A and B decided to meet at a venue at the scheduled time. After his arrival at
5.15 pm, A found that he came 50 minutes earlier than B, who came 35 mimutes late to the
meeting. What 1 the scheduled time of the meeting?

A, B &9 w0 w8 03 Dolrs s ArH08" SRnE O DTG,
Faogo f0.5.15 0% ) €9 SER) A, & B 877 50.00 S00trr Sy

ffarotrc. B &8 Dirawds 35 Q.00 Sudjorr SR, 8 ddrdto g i)gaé

0030 Jodh?

Options :

5.40 pm o.5.40 D.
1. %

5.30 pm &r.5.30 D.
2. ¢

5.35 pm S350
3. %

6.05 pm J0.6.05 D.
4, ®

Question Number : 72 Question Id : 9741093405 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}‘3"5 D

D. Date and Time & Arrangement Problems
B, Lo 801 BBEL VaVVIED



Three women P, Q, R and three men A, B, C sit at a round table facing the centre. A sifs
between Pand B, C sits between Q and R. Q is not a neighbour of B. Who 1s between P and
B

Soroto oo P Q. R bt s ebiven A, B. (e a8 $T6 npcbhyr
) 6. P By B g A, Q S60t R & ek € 4roram 6. B § Fervs Q

g8, Podosn C o vl DT &

Options :
A

Question Number : 73 Question Id : 9741093406 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)mﬂ"é By LT

D. Date and Time & Arrangement Problems
BE, Va0 DB0IL BDB5L VaVRIED



fa@Qb=a+2b+5ab=3a—-Db+4,

then {(3Q4) D50 {6@5} =

¢c@b=a+2b+5a0)b=3a—b+4e00dPc

{(30H0510 {605} =

Options :

72

36
2.

L)
]

64

Question Number : 74 Question Id : 9741093407 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - A : ANALYTICAL ABILITY
2. Problem Solving ‘&)&3}3“5 e

D. Date and Time & Arrangement Problems
B3, R0oDe B0 BBEL VaVIED



If the notation * is defined by the relation x* = x* + x + 1, then

(3" +(2)'+12
(3)-(2")"

* 00 203y 17 = x +x + 1 e Ddowodso T QBRI

(31 H2 V112
By

Options:

)

Question Number : 75 Question Id : 9741093408 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY

1. Arnthmetical Ability

espgricded ,ﬁumgé@



If xAy =xy+x—y, then \/

XAy = xy + x — ¥ 00830, \/

Options :

| =

T

2. ®
7
5
3. %
5
7
4, ®
SectionId :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

(302)A(3A2)

(243)A(2A3)

(3A2)A(3A2)

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

(2A3)A(2A3)
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60 Kgs of an alloy A 1s mixed with 100 Kgs of Alloy B. If alloy A has lead and tin in the
ratio 3 : 2 and alloy B has tin and copper i the ratio 1 : 4. Then the amount of tin i the
new alloy 1s (in kgs)

6031, A e 208 g0 ) 100810, Besd b D305 08 D28, Dgdsmo
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The ratio of passengers travelling in first and third AC in trains between Hyderabad and
Vijayawada s 1 : 50 and the ratio between their charges is 3 : 1. The total fare collected
on a particular day for these passengers between these stations is Rs.132500, then the

amount collected from third AC passengers is (in rupees)
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If (4+V15)* + (4 —V15)? = pV10, then the value of p is
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Sum of the digits in the largest 4 digit number exactly divisible by 77 is
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The digit in the units place of the number (1 X 2 X 3 X...X 183) + 318 is

(1X2X3X...X183) +3'% & oay akog) 2,8 P08 w03
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Three traffic lights A, B, C at the cross roads on a highway are set to show red signal at 10
am. If they turn to green after 15 secs, 25 sees and 30 secs respectively. when will they

show red signal again immediately after 10 am?
w8 0D GrerBR Bg Sred g AP ErHS Ot A,B,C edano do.10 £ iy
Gord PEoSen S0, 0D HWAT 15 D, 25 B, DBai 30 2.0 & e Dy Core’s
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What is the least number of square tiles required to pave the floor of a room of dimensions

24m 78 cm X22m 26 ¢cm ?
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-~ m = . . : s
It e 14.7 where m,n are positive integers with no common divisors except 1, then
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| [fP = 2352.5411.3152. Q - 2352.5410. 3153 R= 2350.5412‘ 3419
alldS i 2353. 5409. 3150 .

Then the ascending order of the numbers of P, Q,R and § 1s

p= 2352‘ 5411.3152. Q - 2352.54103153‘ R= 2350. 5412l3419

08050 § = 2%%%,540%, 3150 ead, P, 0, R 08050 § 09 Ro(R w3856 S0

Options:

S,R,P,Q

1. %

S5, K0P
2. ¥

P8R

Q,R,S,P

Question Number : 89 Question Id : 9741093422 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - B : MATHEMATICAIL ABILITY
1. Arithmetical Ability

eaosricded ,ﬂvmgée:a

Find the decreasing order of the following numbers.
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In an election contested by two candidates A and B, 5% of the voters did not vote. The
winning candidate B won by 7600 votes majority securing 51% of the votes polled. How
many votes wete secured by B?

2 wzdon A, B e T a8 I 4G 5% S0 o b Siveiey. g
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Ratio of incomes of Praveen in the years 2019 and 2020 1s 5 : 7. In 2019, he has spent 45%
ofhis income and saved Rs.4510. Ifhe spends 70% ofhis mcome in 2020, then his savings
in 2020 (in rupees) is

2019 snBakw 2020 foobébmuesﬁ A aog) rrafre dind 5: 7. 2019 DoddGo
& &% wraed’ 45% oD Jdo dr. 4510 Ty Sviy. 20205 SELN)
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A wholesaler sells 50 articles at the marked price of 40 articles to the retailer. The retailer,
in turn, sells them at the marked price of the article. Find the gain or loss percent of the
retailer,

w8 58 TR0 050 4050 208 D08 ES DY SIS 6. ¢
08 (8 T 8 DS DU o). e, & M 6 e For By
730 oJ0e)’
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An article was sold at a loss of 10%. If it was sold for Rs.140 more. there would have been
aprofit of 4%. Then the cost price of the article (in rupees) is

w8 ) 10% SIS o) 006, 68 S8 6. 140 ety 56 0y 608 4% Fo
€20 iy G0, AP 8 S ) 66 (6r.0)
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. . : . 4 . ;
Three persons A, B and C start a partnership business where A invested - of the total capital

of B and C together and B invested one third of the total capital of C and A. If the annual
profit 1s Rs.36 lakhs, then the share of C in lakhs of rupees 1s

00360 {0 A, B, € 00 28 artidr(og (o) ahdodomeeh. wockod’ A ke B
Sobaif C o Awdo dhoadd 4? o080 57T B cdoos dbwercs € SoBosy A © ke

300 = Sodom €od. H0d8\T08 o &, 36 Lgen wod, C dng) T

(Grosed)

Options :

g

15

Question Number : 95 Question Id : 9741093428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION — B : MATHEMATICAL ABILITY
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Three persons 4, B and C start a partnership by investing 20 lakhs, 30 lakhs and 40 lakhs
respectively. After one year A withdrew his money and exited the partnership but B and C
contiued for one more year. If the profit at the end of 2 year period s 32 lakhs, then the
share of the profit of A (in lakhs) is

) S0 4, B, € 00 3 6r.20 vgen . dr.30 vsgen, drd) oo beeyemvéﬁ
a8 el TETY) oo w8 Doddyo DT A &Y Dhowdd
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Three taps P,Q and R can fill a cistern in 10 minutes, 15 miutes and 18 minutes
respectively. The cistern being empty, all the three taps are kept open and after 3 minutes
the tap R is closed. In how many minutes more will the cistern be full?

r¢y deren P, Q, Rew a8 §80 dthire 10 Adoaren, 15 Aoabew. dobaty 18
Ao’ Do o). SO ardm €)1t 2rehy derory 3 Wi bt B0
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Two pipes A and B can fill an empty tank in 16 hours and 12 hours respectively. The pipes
are used alternately for each one hour starting with pipe A at 9 am. Then the time at which

tank 1s filled 1s
ot ﬁ”ege.o A B as ar9 & %)3.‘() o 16 tiobxen So8ak 12 Hobwd Nod (o).
6.9.00 oo o AG' oot 9O flobish wSFd dsrodtorr FErwRy Ardir
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Praveen travels in his car from city A to city B at a speed for 60 kmph and refurns from B
to Aata speed of 40 kmph. If the total time of the round trip travel takes 10 hours, what is
the distance between the cities A and B (in kms) ?

M0 A dooc Mo BL 8 S8 965 tobrsh 60 3.0, SrfoSxn, Serh Hatreao &
B 008 Ad tiotah 40 € 0. SioS e 0sromrety. & Awddo Hatrerds 10 fo.o0 948,

oo A oty Bo ehf o (3. 0.06') dos !

Options :

240
1.

280
2. ®

320
3. %

360
4, ®

Question Number : 99 Question Id : 9741093432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - B : MATHEMATICAL ABILITY
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Anitha drove a car from a point X, 10 kms to East, 24 kms North and 17 kms to West to
reach a point Y. Find the linear distance between X and Y (in kms).

0 83 S Dotk X &0d 10 3.0, S0ty DD D 24320, &80 i 080k
ST 178D, Db 32 T Hoirriod docid) Y & 350 X sndaty Yo o
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Two persons A and B can complete a piece of work in 16, 24 days respectively. A started
the work alone. After few days B jomed him and the work is finished in a total of 12 days.
After how many days did B jom with A?

360 e A 0800 B e a8 5D S 16 Sobatn 24 Besed’ 378 dodredd.
A w030 oo, 56 Bavw bz B 0308 56 & 03D Ao 12 B
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Working 6 hours a day 15 men can complete a road work in 24 days. In addition to 15 men
some more men are employed and all of them work 8 hours a day can complete the same
work in 15 days. Then the number of additional men employed is

Bevs 6 flotae S\ 9 S 15 doofh doidoen a8 Beoi 24 B’ p8 S,
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The dimensions of a rectangular garden are 80m X 60m. There are two paths of the width
10m in the middle of the garden one paralle] to the length and the other parallel to the
breadth. Excluding the paths, what is the area of the rest of the garden in square meters?

80a0. X 6020, Soden 4D% g 86 SOFSY 86 8" ) Teksp, ey 0%
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If the diagonal of a square is v72 cm, then ifs area, in sq.cm.. is

208 806830 GR08), Do Ty V72 20,2, a0, T8 oo (1500 0)
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The inner measurements of the length, the breadth and the depth of a rectangular tank i
1 : x . G ; G
meters are 37 5 12, 8 respectively. If I cubic meter of water weighs 1000 kg, what will be

the weight of the water in the tank when it is full (in 1000 kgs)?
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The inner dimensions of a closed box are 35 ¢cm, 75 cm and 115 cm. The thickness of the
wood of which the box is made is 2.5 cm. The total volume of the wood, in cm’, is

34,8 dofrth S w8 Surdtio 98 ding), 608 Soden 35 0., 75 20D, dubak
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)
The area of four walls of a room is 128 sq.m. and the length of the room is equal to its
width and the height 1s 4 m. If the cost of tiling the floor is Rs.100 per sq.m., then the cost
of tiling the floor, in rupees, 1s
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The base and atitude of a parallelogram are in the ratio 3 : 2 and its area 1s 216 sq.cm.
Then the length of the altitude, in cm. 1s

w8 Narodd cﬁei)d)bao 033032J #iraD Bt &Ry doww 3 12 qu‘)e_igeﬁﬁ 50 JDBaiD
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Ifthe perimeter of a semicircle 144 cmy, then its area. in sq.cm. is
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If ay,ay,a, 04,05, ag, a; are the remainders respectively when each of the numbers
5264728292102, 112 is divided by 15, then greatest infeger among
1y, Ay, A3, Ay, Az, Ag, A7 1S
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The remainder when 2°° is divided by 5 is
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Set A has m elements and set B has n elements. If the number of elements in the power
set of A 1s 48 more than the number of elements in the power set of B, then m +n =

203 A6 m durusen $H8aky 53 B &' n drosew . 4 ang) ird 23

S B cﬁnsb OV ANV s@l 48 darerseen edsorr erbléémé. m+n=
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IfA={1,2,3,4,5,6,7}, then the number of subsets of A containing only odd integers is

A=1{1,2,3,4,5,6,7} eondd. 80 :boaargm) PG daroseT sga@ A 03”56

&9 Daede) 'boaa?g

Options :



Question Number : 113 Question Id : 9741093446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability
DD, 2§NSAD Frges

Given that one of the zeroes of the cubic polynomial ax® + bx? + cx + d is zeto, the
product of the other two zeroes is
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgé@

Ifa, B are the roots of 2 — 5x + 6 = 0, then the quadratic equation whose roots are a? + f

and f2 + a is
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Options :
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SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§ROBOD ﬁnmgé@



Let a # 0 and p(x) be a polynomial of degree greater than 3. If p(x) leaves remainders
a and —a when divided by x + a and x — a respectively, then the remainder when p(x)is

divided by x? - a? is
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§IOBOD Snm%e:a

If x% —3x +2 divides 2x* —5x + 2x?* + ax + b, then 10a + 24 b =
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SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, St Tevs) &m%@

2 < ; 4 : i :
= of Mr A’s present age is equal o - of Mr B’s present age. Six years ago, the age of Mr.A

is equal to the age of Mr.B after 5 vears. Then the greatest common divisor of the ages of
Mr.A and Mr.B. (as numbers) i
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD 3»533%@

Ina triangle ABC, 2A, ZBand £C are respectively (2x +y)°,x° and (2y)°
and £C is 30° more than 2B then AABC is a
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgé@

If one root of the equation x2 — x + k = 0 (k is an integer) is the square of the other, then
k=
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SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

HBaD, r§HOD Fanges

The sum of the first 10 terms of an arithmetic progression is 120 and the sum of the next
10 terms is 320. Then the fifth term of that arithmetic progression is
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SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, St lens) Snmgé@

The sum of an infinite number of terms of a geometric progression is 23 and the sum of its
squares is 69. What is the common ratio of that geometric progression?
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SECTION —B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability
DD, 2§D e

sinA+sinC

In triangle ABC. 2B = 60°. then ——— =
“ cos( )

2
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Ddan, St telens) E}vmgé@



sin90° + cos 180° + tan 60° + cosec 30° =
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD 3»533%@

Vsint®x +4cos2x — Vcostx +4sin2x =

Options :
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD 3“533%5@

For any angle A, 3(sin*A + cos*A) — 2(sin®A + cos®4) =

B S0 A £ 3(sin*A + cos*A) — 2(sin®A + cos®A) =

Options:
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SECTION —B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, St Tevs) &mgé@



The angles of elevation of the top of a tower and the top of a flag post on the tower from a
pomnt on the ground 100 m from the foot of the tower are respectively 30° and 60°. Then
the length of the flag post. in meters, is
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability
DAAD, EFIOBOD Ja0Y e

=)
The perimeter of a triangle with vertices (0, 4). (0. 0) and (3. 0) is

(0.4).(0.0). (3.0) Frreor o Ggomo i Sos
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§IOBOD Sncm%@

Let ABC be a triangle with AB = 3 cm, BC =4 cm, CA =5 cm and D De the mid point of
BC. Then AD* =

Gebazo ABC & AB= 330040, BC=4700.., CA=5700.00. 50808 BC s Docoid

D. winy AD? =

Options :
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &FIOBOD 5‘@3255@

The area of a trapezium is 312 sq.m. The perpendicular distance between its parallel sides
is 24m and the difference between the lengths of the parallel sides is 8 meters. The lengths
of parallel sides of that trapezium are (in meters)

08 0008 S0 FTR(0 312 3., o Dol Fhare 35068 008 ¢4 24 ».
2804 Goch Drodsd Fare T Vel 530 8 ., 00, 2 Adyeoe) DL Ve
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgé@

ABCD is a quadrilateral with diagonal AC = § cm. DF and BE are perpendiculars drawn
from D and B on AC. If BE =4 cm and area of ABCD 15 20 sq.cm., then DF (in cm) s
ABCD 9 éeﬁ)d)aaoeﬁs Dsgo AC =8 20.20, AC 2D, B o &00é Acdd wow Gaen DF,
BE. BE =470.20. 0600 ABCD 3300 20 ¢50.20. @08, DF = (30.0.06
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SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§ROBOD 5“@3%5@



In the given figure, AT is a tangent to the circle with centre O, such that OT = 4cm and
£OTA=30°. Then AT (in cm) 1s equal to

i dkod, O Sodo o Sydo & 0T = 4
R0, LOTA = 30° ey AT a8 y6) 8o,

e AT = (20.0.08)
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§IOBOD Snm%e:a

If the area of a circle is 144m cm” and if an arc AB of the circle subtends an angle g at the

centre C of the circle, then the perimeter of the sector ABC of the circle, in cm, i

w8 Byd0 Frojo 14T S0, AB &3 a8 @) & Sgtodo 56 - SI) DGR,
- o o ') 3 o
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SECTION - B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability
DD, 2§D e

If the points (5, k), G, 4), (0,6) are collinear, then the value of k =

(5,k), (,4),(0.6) & Dochigpen 15osren wowd, k =
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD 3“53325@

The equation of the straight line dividing the line segment joining the points (1. 1)

and (2. 4) in the ratio 2 : 3 internally and having slope 10 is

10 o ™ S%). (1, 1), (2, 4) Dothoapoid 880 Sar oty 2: 3 Dﬁbgﬁs @odddorr
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Options :

50x —5y—59 =0
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20x—2y—5h2=10

2. %
10x—y—29=10
3. %
Hx—4y — 39 =10
4. %

Question Number : 135 Question Id : 9741093468 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, &§IOBOD ﬂnmgée:a



If line meets the coordinate axes in A(—7,0) and B(0,8). then the slope of the line which
is perpendicular to AB is

w8 89 Adrnd wgodd A(-7,0),B(0,8)v écg DGR, WA, AB £ oot &od NGY
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability
DD, &FNSAD Frdnge

The equation of a line which is parallel to the line passing through the points (-3, 2) and
(5, -4) and passing through the origin is

(=3,2), (5,—4) Docoedyo oz &Yl B Hroddor Gobr Hare Dochid) ot

ek Gar 00

Options :
1.



x4y =10
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgé@

: : 2 : : 2 :
The equation of a straight line passing through (1. 1) and which makes an angle ?n with

the positive direction of X-axis is
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Options :
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SECTION —B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, St lens) 3“@%5@

The equation of the straight line which makes an mtercept of 4 units on the positive side of

T . . v " n 3 "
the Y-axis and is inclined at an angle 6 to X-axis where tan 6 = ;18
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SECTION — B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, F{IOBOD Svmgé@

The X-intercept of the line 2x + 3y +7=01s

2x +3y +7 =0 G abos), X - woddaoto
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SECTION —B : MATHEMATICAL ABILITY
2. Algebraic and Geometrical Ability

Do, St lens) Snmgé@

The equation of the straight line passing through the point (4, 5) with the slope —2 is
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SECTION —B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFET 5‘“&3—’%@

The average age of 120 students in a class is 16 years. 60% of students are girls and the
rest are boys. If the ratio of the average ages of girls and boys is 6 : 7, then the average age

(n years) of the girls i
120 o0 Dw}g%bw o SEHAS'D 3)65"5%)9.1) it Sasory 16 R0sSyo. & 6B
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SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFETR &mgﬁ@

The salaries of 10 workers i a factory are given below. Then the mean salary of the
workers in the factory ( in rupees) is

08 S0 10 2008 58,40 deren §oi ABEEAD. 0008, ¢ 4008 5890
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SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFETR &mgﬁ@

If the mean of the set of 10 observations x;, x,, ..., Xy 15 20, then the mean
ofx; +4,x+8x3+12,.., %0+ 4015

10 83030 X1, X, .., X19 © 206500 20 @028,
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SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability
R0aTFETR &mgﬁ@

What is the median of the following frequency distribution?
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3%5;,1)&50

Options :

442
11

Question Number : 145 Question Id : 9741093478 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

R0aTFETR Sﬂmgﬁ@

What is the median of the following observations?
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SECTION —B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFET ﬁﬂmg?ﬁ@



The mode of the following distribution of the marks obtained by the students in an
examination is

W58 908 oy Todd AP0 Ardodd & $08 csEroso ) BRSO

Marks obtained | 0-20 | 20-40 | 40-60 | 60-80 | 80-100
Todd S e

No. of students 15 18 21 29 17
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SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

R0AFFETR 3“&33%@

The mode of the distribution whose mean 25 and the median 24 is
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SECTION - B : MATHEMATICAL ABILITY
3. Statistical Ability

R0aFFETR) Sﬂm%@

I a number is selected from the first 25 natural numbers, then the probability that it is not
a prime number is

2008 25 Hera ﬁomﬁv 2008 28 ﬁ)oassm Do E,S?oa‘):p_)bm o AT faoaaﬁ SN FVARY
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SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability
R0aFFETR) &mg&@

10 students are standing in a row. If two out of them are chosen at random, then the
probability that the chosen two students are adjacent to each other is

w8 S8 10 Sod Dwggaw RROVT) 8. 86 @gﬁb afreSyu\Sorr
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SECTION — B : MATHEMATICAL ABILITY
3. Statistical Ability

R0aTFETR &mgﬁ@

I three fair dice are thrown simultaneously, then the probability of getting sum 15 is

0Pt Airydg D0 w30 BodYED. 8 dovared dy doajw ando 15
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Question Number : 151 Question Id : 9741093484 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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SECTION - C : COMMUNICATION ABILITY — Meanings

His handwriting is legible.

(The underlined word means)

Options :

readable
vague

unreadable

ambiguous
4. %

Question Number : 152 Question Id : 9741093485 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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SECTION - C : COMMUNICATION ABILITY — Meanings

He is known to have acquired wealth through dubious means.

(The underlined word means)
Options :

careful



trustworthy

lawtul
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doubtful
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SECTION - C : COMMUNICATION ABILITY — Meanings

The matter has to be approached in a discreet manner.

(The underlined word means.)
Options:
interesting
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powerful
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impatient
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SECTION - C : COMMUNICATION ABILITY — Meanings



We are all amenable to law.

(The underlined word means)
Options :

irresponsible
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ignorant
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3.¢

vulnerable
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SECTION - C : COMMUNICATION ABILITY — Meanings

Her remarks were iIl]pEHlDllS.

(The underlined word means.)

Options :

1 = studied

hasty

2. ¥

bold
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SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

The synonym of ‘impromptu’ is

Options :

prepared
unprepared
prompt

careless
4, ®

Question Number : 157 Question Id : 9741093490 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

Synonym of ‘excruciating’
Options :

pleasant
1. %

acute



cute

mute

Question Number : 158 Question Id : 9741093491 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

The synonym of ‘sagacious’ is
Options :

wise
1.

dense

obtuse

simple
4. ®

Question Number : 159 Question Id : 9741093492 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

The antonym of ‘vilify’ 1s

Options:
1. %



reset

exhilarate

venerate
3.¢

elate

Question Number : 160 Question Id : 9741093493 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Synonyms and Antonyms

The antonym of ‘vigorous’

Options:

energetic

dynamic
2. %

sluggish
3.¢

robust

Sub-Section Number : 3
Sub-Section Id : 974109384
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9741093494 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

I my purse yesterday.
Options:
lost
1.¢

have lost

2. %
had lost
3, %
lose
4, ®

Question Number : 162 Question Id : 9741093495 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

We asked him why he applied for the job earlier.

Options :

hasn’t
1. %

haven’t



didn’t

hadn’t

4. v

Question Number : 163 Question Id : 9741093496 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

Had the equipment reached us in time, we the bridge.

Options:

could complete

1. %

Can have completed
2. %

could have completed
3.¢

had completed
4. %

Question Number : 164 Question Id : 9741093497 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)



When Tina was a little girl, she spend hours in her backyard playing.

Options :

was

used to
2. ¢

18
3, %

should
4, %

Question Number : 165 Question Id : 9741093498 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Verb (Tense & Voice)

What do you think after ten years.

Options :

you did

you have been doing

you will be doing
3.v¥

4. %



you were doing

Sub-Section Number : 4
Sub-Section Id : 974109385
Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 9741093499 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

It took me a month to the fatigue.

Options :

get over

1.¢

get out
2. %

get into
3. %

get off
4. ®

Question Number : 167 Question Id : 9741093500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms



The bank the company’s debt.

Options:

wrote off
1.4

wrote of
2. %

wrote out

wrote by

Question Number : 168 Question Id : 9741093501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

Sudhir can be annoying at times but his heart 1s in the right place.

(The underlined idiom means)

Options :

He 1s healthy.

He has good intentions.
2.¥

He can be arrogant at times.
3. %



He is stupid at times.

Question Number : 169 Question Id : 9741093502 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Phrasal Verbs and Idioms

“We need to hash the procedure out’

(What 1s the meaning of the underlined phrase?)

Options:

We need to check the procedure.

1.%
We need to abandon the procedure.
2. %
We need to discuss the procedure at length.
3.¢
We need to avoid the procedure.
4. %

Question Number : 170 Question Id : 9741093503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions



An attack of COVID pulled him down.

(What does the underlined idiom mean?)

Options :

strengthened

forced

threw

weakened
4, &

Sub-Section Number : 5
Sub-Section Id : 974109386
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 9741093504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

Shikar is so sharp that he can solve any problem ease.

Options :

for

n



Question Number : 172 Question Id : 9741093505 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

He is an amateur. He draws pictures pleasure.
Options:
for
1.4
above
2. %
by
3. %
from
4. %

Question Number : 173 Question Id : 9741093506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

man over there seems to be ill.



Options :

A

An

The

Since

Question Number : 174 Question Id : 9741093507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

He was one minute late to examination centre and was not allowed 11.

Options :
d
1. %

that

d1l

the



Question Number : 175 Question Id : 9741093508 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY - Articles and Propositions

Though fashionable, this is ugly dress.

Options :

a

d1l

the

with

Sub-Section Number : 6
Sub-Section Id : 974109387
Question Shuffling Allowed : Yes

Question Number : 176 Question Id : 9741093509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Which unit is used to measure the speed of a CPU?

Options :

GHz



MBPS

Megabytes

Pixels

Question Number : 177 Question Id : 9741093510 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Which type of memory is volatile and loses data when the power is turned off?

Options :

Hard drive

ROM

RAM

Flash Memory

Question Number : 178 Question Id : 9741093511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Which of the following is a cyber threat?

Options :

Firewall

Phishing
2. ¥

Data encryption

VPN

Question Number : 179 Question Id : 9741093512 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology
Which type of malware replicates itself to spread across computers?
Options :

Spyware
1. %

Trojan
2. %

Ransomware
3. %



worin
4, &

Question Number : 180 Question Id : 9741093513 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Computer Terminology

Which component is responsible for rendering graphics in a computer?

Options :

. %« CPU

RAM

GPU

SSD

Sub-Section Number : 7
Sub-Section Id : 974109388
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9741093514 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology

At the meeting, the Managing Director put forth to infroduce more patt time

positions in the company.



Options :

a Mmotion

an agenda
2. %

minutes

a referendum

Question Number : 182 Question Id : 9741093515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology

A measure of profitability of an investment is called

Options :
Equity

Loss

Cash flow

Return of Investment

Question Number : 183 Question Id : 9741093516 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology

The of the tech company was 10% higher than that of its nearest competitor.

Options :

start up

mrnover
2. ¥

stock market
3, %

manufacture

Question Number : 184 Question Id : 9741093517 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology

The business is more than doubled since the company went into with a

multinational company.

Options :
profit
1. %
market
2. %



partnership

break
4, ®

Question Number : 185 Question Id : 9741093518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Business Terminology

Ravi works for a well-known law
Options:

business

company

factory

firm
4. ¢

Sub-Section Number : 8
Sub-Section Id : 974109389
Question Shuffling Allowed : No

Question Id : 9741093519 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (186 to 190)
Question Label : Comprehension

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1



A permanent steno-typist was now needed m Miss Dick’s place, and I was fortunate in
getting another girl. She was Miss Schlesin. Introduced to me by Mr. Kallenback,
whom the reader will know in due course. She is at present a teacher in one of the High
Schools in the Transvaal. She was about seventeen when she came to me. Some of her
idiosyncrasies were at times too much for Mr. Kallenbach and me. She had come less
to work as a steno-typist than to gain experience. Colour prejudice was foreign to her
temperament. She seemed to mind neither age nor experience. She would not hesitate
even to the pomt of msulting a man and telling him to his face what she thought of him.
Her impetuosity often landed me in difficulties but her open and guileless temperament
removed them as soon as they were created. Ihave often signed without revision letter
typed by her, as T considered her English to be better than mine, and had the fullest
confidence of her loyalty. Her sactifice was great. For a considerable period, she did
not draw more than 6 pounds, and refused ever to receve more than 10 pounds a month.
When I urged her to take more, she would give me a scolding and say, ‘T am not here to

draw a salary from you. I am here because I like to work with you and I like your ideals.”
Sub questions

Question Number : 186 Question Id : 9741093520 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

Who introduced the new steno-typist to the author?

Options :

Miss Dick

Miss Schlesin
2. %



Mr Kallenbach
3. v

The author himself
4, %

Question Number : 187 Question Id : 9741093521 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

‘Colour prejudice was foreign to her temperament’, what does it mean?

Options :
She discriminated against the blacks.

She was prejudiced against the whites.

Indians were treated by her as foreigners.

She was not prejudiced against the Indians on the basis of their ‘colour’
4.

Question Number : 188 Question Id : 9741093522 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

What 1s the meaning of the word ‘impetuosity’ ?

Options :



laziness

impulsiveness

calmness

indifference

Question Number : 189 Question Id : 9741093523 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1

The author says, ‘T have often signed without revision letters typed by her.” Why?

Options :

Because his language was better than hers.
1.%

Because he did not want to trouble her with more work.

Because her language was better than his.

Because he was afraid of her impetuous temperament.

Question Number : 190 Question Id : 9741093524 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-1



How much salary did the steno-typist draw from the author?

Options :

12 pounds a month.
1. %

6 dollars a month

2. %
12 dollars a month
6 pounds a month.
4, &
Sub-Section Number : 9
Sub-Section Id ; 974109390
Question Shuffling Allowed : No

Question Id : 9741093525 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (191 to 195)

Question Label : Comprehension

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2



A comet is a small, icy and dusty celestial body that orbits the Sun. It consists of a
nucleolus which is the solid centre of the comet, and a coma which is the cloud of gas
and dust surrounding the nucleolus. When a comet passes close to the Sun, the Sun’s
heat expands the comet and creates a bright glowing halo called a coma. Comets are
often called dirty snow balls because they are composed of water, methane and other
volatiles. They are believed to be remnants of the early solar system and many provide

msight into the formation and evolution of the planets.

Sub questions

Question Number : 191 Question Id : 9741093526 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

A comet 18

Options:

a small icy and dark celestial body that orbits the universe.

a small icy and dusty celestial body that orbits the Sun.
2.¥

a large cold and dark celestial body that orbits the Moon.
3. %

a small icy and dusty earthly body that orbits the Sun.

Question Number : 192 Question Id : 9741093527 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

form parts of a comet.

Options :

A solid and a coma
1. %

A coma and a halo
2. %

A nucleolus and a coma
3. v

A nucleolus and a halo

Question Number : 193 Question Id : 9741093528 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

The bright glowing halo around the comet is caused by :

Options :
the cloud and dust expanding the nucleus.

1. %

the sun’s light reflecting off the comet.
2. %



the collision of the nucleus with the comet.

the sun’s heat expanding the comet.

Question Number : 194 Question Id : 9741093529 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2

Coma 1s

Options:

the cloud of gas and dust surrounding the nucleolus.
1.4

the cloud of gas and dust surrounding the comet.

the bright glowing light around the sun.

the dull glowing light around the sun.

Question Number : 195 Question Id : 9741093530 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-2



The word ‘remnant’ means

Options :

whole

bulk

residue

addition

Sub-Section Number : 10
Sub-Section Id : 974109391
Question Shuffling Allowed : No

Question Id : 9741093531 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (196 to 200)
Question Label : Comprehension

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3



Hundred years ago, as humans we had an uncomplicated biological connect. We drew
roughly 3000 calories of energy each, out of the earth for our food and life’s sustenance.
Today it has grown to 1,00,000 calories. We need only 3000 calories each to nourish
life even now. All the rest of the energy is what we extract from the earth for everything

else besides keeping ourselves alive,

How to soften this abuse of resources and move towards sustainable development?
Beyond the ceremonial planting of green, gettig people to run marathons in support of
environment, is there more that we can do for the sustamablity of development? Of
course, 1t helps to avoid a plastic bag and use a jute bag which you can reuse without
the abuse of the earth. However, there’s actually quite a bit you and I can do without
compromise on comfort, with very little cost incurred, with financial savings so that we
can gain on energy and water use to secure our present as well as future development

without the abuse of earth.

Sub questions

Question Number : 196 Question Id : 9741093532 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

Human connect with nature in olden days was

Options :

simple
1.4



complex

inaccessible

exacting

Question Number : 197 Question Id : 9741093533 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

The author asks us to use jute bag because

Options :

To promote the use of resources.

To lessen the abuse of resources.

Jute bags are fashionable.

Jute Bags consume only 3000 calories.

Question Number : 198 Question Id : 9741093534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

According to the author sustainable development is

Options :

Using earth’s resources for present development.

Abusing earth’s resources for present development.

Using earth’s resources with care for present and future development.
3.¢¥

Abusing earth’s resources for present and future development.
4. %

Question Number : 199 Question Id : 9741093535 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

Sustainable development involves

Options :
Lot of cost, compromise on comfort and savings. losing on energy and water

1. % usage.

Very little cost. no compromise on comfort and savings gain on water and
)« Chergy usage.



No additional cost but lot of compromise on comfort and savings, losing on
energy and water usage.

Very little cost, but compromise on comfort and savings gain on water and
4 % cnergy usage.

Question Number : 200 Question Id : 9741093536 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

SECTION - C : COMMUNICATION ABILITY — Comprehension Passage-3

In the context of the given passage, which of the following statements is true?

Options:

We aren’t abusing earth’s resources.

_ We can’t do anything about the abuse of earth’s resources.

We are consuming earth’s resources in proportion to our requirement.

We used to consume earth’s resources in proportion to our requirements.
4.





